
10.1m
  𝑡 = ? = 1.44

∆𝑑 = 𝑣௜𝑡 +
1

2
⎯⎯𝑎𝑡ଶ

+

𝑣௜ = 0
       ∆𝑑 = 𝑣௜𝑡 +

1

2
⎯⎯𝑎𝑡ଶ

−10.1 = 0 × 𝑡 +
1

2
⎯⎯(−9.8)𝑡ଶ

−10.1 =
1

2
⎯⎯(−9.8)𝑡ଶ

−10.1 = −4.9𝑡ଶ

   2.06 = 𝑡ଶ

          𝑡 = 1.44𝑠

∆𝑑 = 𝑑௙ − 𝑑௜

∆𝑑 = 0 − 10.1
∆𝑑 = −10.1𝑚

𝑇𝑖𝑚𝑒 𝑡𝑜 𝐹𝑎𝑙𝑙 = 1.44𝑠

𝑣௙
ଶ = 𝑣௜

ଶ + 2𝑎𝑑

𝑣௙
ଶ = (0)ଶ + 2(−9.8)(−10.1)

𝑣௙
ଶ = 197.96

𝑣௙ = −14.1
𝑚

𝑠
⎯⎯

𝑎 = 𝑔 = −9.8
𝑚

𝑠ଶ
⎯⎯

𝑉𝑒𝑙𝑜𝑐𝑖𝑡𝑦 𝐵𝑒𝑓𝑜𝑟𝑒 𝐼𝑚𝑝𝑎𝑐𝑡 = −14.07
𝑚

𝑠
⎯⎯ −𝑣𝑒 ; 𝐷𝑜𝑤𝑛!

OR

Velocity before impact

𝑣௙ = 𝑣௜ + 𝑎𝑡

𝑣௙ = 𝑎𝑡

𝑣௙ = (−9.8)(1.44)

𝑣௙ = −14.1
𝑚

𝑠
⎯⎯

𝑣௙ = 𝑣௕௘௙௢௥௘ ௜௠௣௔௖௧

𝑣௙ = ? = −14.1

𝑣௙
ଶ = 𝑣௜

ଶ + 2𝑎𝑑

𝑣௙ = 𝑣௜ + 𝑎𝑡

∆𝑑 = 𝑣௜𝑡 +
1

2
⎯⎯𝑎𝑡ଶ

∆𝑑 =
1

2
⎯⎯𝑎𝑡ଶ

   𝑡 = ඨ
2𝑑

𝑎
⎯⎯⎯

⎯⎯⎯
 

   𝑡 = ඨ
2(−10.1)

−9.8
⎯⎯⎯⎯⎯⎯⎯⎯

⎯⎯⎯⎯⎯⎯⎯⎯
 

   𝑡 = 1.44𝑠

𝑣௙
ଶ = 𝑣௜

ଶ + 2𝑎𝑑

𝑣௙
ଶ = 2𝑎𝑑

𝑣௙ = √2𝑎𝑑
⎯⎯⎯⎯ 

𝑣௙ = ඥ2(−9.8)(−10.1)
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ 

𝑣௕ = −14.1
𝑚

𝑠
⎯⎯

Rounding!

ℎ

𝑡

(1.44, 0)(0,0)

ℎ 𝑣𝑠 𝑡

Down

𝑣

𝑡

(1.44, −14.07)

(0,0)

𝑣 𝑣𝑠 𝑡

𝑚 = 𝑎 = −9.8 
Obviously!

𝑎

𝑡(0,0)

𝑎 𝑣𝑠 𝑡

𝑚 = 0 ; ∆𝑎 = 0

−9.8

"𝑎" 𝑖𝑠 𝑐𝑜𝑛𝑠𝑡𝑎𝑛𝑡

ℎ = −4.9𝑡ଶ

𝑣 = −9.8𝑡
𝑎 = −9.8

10.1
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